August 28, 2014

HW 1-1 pg. 94: 11-21 odd, 25, 36, 37, 54
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August 28, 2014

1-2 - Solving Multi-step Equations

Objectives:
-1 can solve an equation doing 2 or more steps

-I can distribute and combine like terms

Vocabulary: distribute, like terms, combine,

isolate
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Combining like terms:

Combining like terms:
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Sa+6-a+7-2 -11k + 2k -7 + 5k - 2
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-2(a-b) +a-4b=7forb

Write an equation that equals -6
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The formula for the area of a triangle is A = lbh

where A represents area, b represents the length of the base and h
represents the height of the triangle.

a.SlthfmlfhghtTﬁ \ﬁh

b. Find the helght of a triangle that has a base of 3cm and an area
f 12cm? —
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